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O== 1,000,000& x52EF «12& 624,000
O=sgl 8,000 x60S * 128 21 120,960
OulsH| 3,000 x52E* 123 21 39,312
Oou=tl 309,840 x30E *13] 9,29%6
Odli2g= 6,432,000 * 14 6,432
o us 2494l A 34,612 34,612 0
= 9,393
=S 7,276
Al 17,943
201 fer=3| 11,568 0 11,568
= 3.470
= 2,313
Al 5,785
01 AtR2t2|HI 11,568 0 11,568
OJl=sX2dly & 8=2us XA
5,902,000 * 14 5,902
= 1,770
= 1,180
Al 2,952
O AOIHLE 24|
2,833,000& *22] 5,666
= 1,700
= 1,133
Al 2,833
301 Eet2 NS 23,044 34,612 11,568
= 5,923
= 4,963
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== 80
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Olt==? A8t 23|
730,000 *12] 730
= 730




FA S E
B olgel 2o
el e 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S EICEEEEREE
4,167,000& <22 8,334
= 2,500
[ 1,667
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8,580,000& 12 8,580
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& 1,716
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= 1,500
Al 3,500
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< 9,000
Al 21,000
201 Eer23 | 30,000 30,000 0
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Al 21,000
01 At2teltl 30,000 30,000 0
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14,000,000 *12] 14,000
= 4,200
Al 9,800
O nssd dNSXA XA
16,000,000 * 12l 16,000
< 4,800
Al 11,200
=pFHeYR S ¢ 2 1,900 1,900 0
= 570
== 399
Al 931
201 er23| 1,900 1,900 0
= 570
== 399
Al 931
01 At22t2lt] 1,900 1,900 0
OSRTEO Qislol o £ Z|
1,900,000 %12 1,900
= 570
== 39
Al 931




SN SR
ma: gl 2o
= e = EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
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Al 10,500
201 =3 21,000 21,000 0
= 6,300
=S 4,200
Al 10,500
01 At 22|l 21,000 21,000 0
ODIDITH s Y=o B3
210,000 *10Z = 10K 21,000
= 6,300
= 4,200
Al 10,500
dHY2EGH(AESZ ) 159,698 169,305 29,607
el 2| 85,298 87,832 A2,534
el 2d| 85,298 87,832 AN2,534
101 @124H| 85,298 87,832 2,534
01 &2 81,497 84,143 N2,646
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11,3192 x20& x30A1 2+ 122 81,497
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O=AD| gz 400,000 128 4,800
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230,000 * 122 2,760
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8,000 x22H +72Lx 12 14,784
2 S52g4l 6,99 6,948 48
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60,0002~ 12& 720
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OoNtHgs e S3E8E I 24
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202 0idl 35,280 38,640 A3,360
01 =WHO4bI 35,280 38,640 A3,360
OJI22UEE0YI
20,0003 *21H+x7L 123 35,280
203 YR =&H| 4,200 8,600 A4,400
M EN2EHRFAY| 4,200 4,200 0
ORAN2ILRF&I 350,000& =123 4,200
HREs(tEsZ ) 1,685,342 1,538,367 146,975
LHEHH K= 1,685,342 1,538,367 146,975
LH= D4 eh 1,685,342 1,538,367 146,975
TR IISEEZ 1,685,342 1,538,367 146,975
01 2I38E3 1,685,342 1,538,367 146,975
o222 dE=
1,685,342,000 3 14| 1,685,342




